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XCO(].P) /G(JPC) _ 0+(0++)

XCO(]-P) MASS

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT

3414.71+ 0.30 OUR AVERAGE

3413.0 + 1.9 +£0.6 933 1 AAL 17BBLHCB pp — bbX — |
2AAKTKT)X

34142 + 05 +2.3 5.4k UEHARA 08 BELL ~7y — xco — hadrons

3406 + 7 46 230 2 ABE 07 BELL ete™ — J/i(c?)

3414214+ 0.3940.27 ABLIKIM 056 BES2 %(25) — vxco

34147 T L to2 3 ANDREOTTI 03 E835 Pp— xog— w00

34155 4+ 0.4 +0.4 392  4BAGNASCO 02 E835 Pp— xc9— J/v7

3417.4 T 18 102 3 AMBROGIANI 998 E835 pp — ete ~

3414.1 + 0.6 +0.8 BAI 998 BES  (25) — ~X

3417.8 + 0.4 +4 3 GAISER 86 CBAL (2S) — ~X

3416 + 3 +4 5 TANENBAUM 78 MRK1 ete™

e o o We do not use the following data for averages, fits, limits, etc. o o @

34146 + 1.1 266 UEHARA 13 BELL ~y — K%K%

34165 + 3.0 EISENSTEIN 01 CLE2 eTe™ — etTe xy

3422 +10 5 BARTEL 788 CNTR ete™ — J/i2y

3415 + 9 5 BIDDICK 77 CNTR ete™ — ~X

1 Fr(I)m a fit of the ¢ ¢ invariant mass with the width of x_o(1P) fixed to the PDG 16 I
value.

2From a fit of the J/1p recoil mass spectrum. Supersedes ABE,K 02 and ABE 04G.
3 Using mass of ¥(25) = 3686.0 MeV.
4 Recalculated by ANDREOTTI 05A, using the value of ¢)(2S) mass from AULCHENKO 03.

5 Mass value shifted by us by amount appropriate for ¢ (2S) mass = 3686 MeV and
J/¢¥(1S) mass = 3097 MeV.

Xco(1P) WIDTH

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT
10.84+0.6 OUR FIT
10.5+0.8 OUR AVERAGE Error includes scale factor of 1.1.

10.64+1.942.6 5.4k UEHARA 08 BELL ~y — xco — hadrons
126712109 ABLIKIM 056 BES2 (2S) — vxco

8.6 11+0.1 ANDREOTTI 03 E835 pp— x.o— om0
9.74+1.0 392 1 BAGNASCO 02 E835 Bp — xeo — /U7
16.6 732 +0.1 AMBROGIANI 998 E835 Bp — et e~
14.3+2.0+3.0 BAI 98I BES  ¢(2S) — ynta—
13.54+3.34+4.2 GAISER 86 CBAL (25) — X, yn9x0
e o o We do not use the following data for averages, fits, limits, etc. o o @

13.242.1 266 UEHARA 13 BELL vy — K%kQ
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1 Recalculated by ANDREOTTI 05A.

Xco(1P) DECAY MODES

Scale factor/

Mode Fraction (I';/T) Confidence level
Hadronic decays
M 2(xtn) (2.3440.18) %
5 p°7r+ - (9.1 £2.9 ) x 103
! p°p°

M4 f5(980) f5(980)

s #ata a0x

6 ptn 7%+ cc.

F7 47TO

g 7mta  KTK™

My K5(1430)0K}(1430)°

T KT K™

Mo K5(1430)°K35(1430)%+ c.c. —
T KT K™

Fll K1(1270)+ K~ + c.c. —
rtr Kt K~

F12 K1(1400)+ K~ + c.c. —

T KTK™

M3 fo(98 ) f0(980)

14 f5(980) f5(2200)

15 fo(1370) f5(1370)

M6 fo(1370) f(1500)

17 fo(1370) fp(1710)

8 fo(1500) f5(1370)

M9 fo(1500) f5(1500)

% f0(1500)f0(1710)

[y KtK-atn— a0

2o K%Kiﬂ'q:ﬂ'—i_ﬂ'_

M3 KTK 7070

My KT K70+ cc.

F25 p+ K~ K0+ C.C.

Me  K*(892)" Ktn0 —
Kt~ K70+ c.c.

F27 Kg Kg 7T+ ™

Mg KTK nn0

Mg 3(nT77)

Mo KTK*(892)°7~ + c.c.
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(6.6 +2.1 ) x 10~4
(3.3 £0.4 ) %
(2.9 £0.4 ) %
(3.3 +£0.4 )x 1073
(1.814£0.14) %

(98 739 )x1074

(80 729 )x104

(6.3 £1.9 ) x 10~3

<27 x 10—3 CL=90%
(16 59 )x1074
(79 22 )x 1074
<27 x 10~ 4 CL=90%
<17 x 104 CL=90%
(67 733 )x1074
<13 x 10~ 4 CL=90%
<5 x 1072 CL=90%
<7 x 1072 CL=90%

(8.6 £0.9 ) x 103
(4.2 £0.4 ) x 1073
(5.6 £0.9 ) x 10~3
(2.49+0.33) %
(1.2140.21) %
(4.6 +£1.2 )x 103

(5.7 £1.1 ) x 1073
(3.0 £0.7 ) x 103
(1.2040.18) %

(7.5 +£1.6 ) x 10~3
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K*(892)° K*(892)°

s

70n

7/

™ Tc

nmn

'

'

ww

we

WKTK™

KT K~

KSKS

W+W_n

W+W_n/

KOKtn~+ cc.

Kt K= x0

KtK™n

KT K~ KYKS

KTK-KTK™

KTK=¢

KOKtn~ ¢+ cc

KTK=m0%¢

dprt 70

X

pp

ppml

PP

ppw

ppP¢

ppr T

pprl 70

pp K+ K~ (non-resonant)

PPKLKY

pnm—

ﬁnﬁ+

pnm— T

ﬁnw+wo

AA

AT~
AATT 7~ (non-resonant)
>(1385)T An~ + c.c.
> (1385)" Art + c.c.

KtpA+ cc.

0

Page 3

(1.7 £0.6 ) x 103
(8.514+0.33) x 10~3
<18 x 10~4
<11 x 103
<16 x 1073
(3.01+£0.19) x 103
(9.1 +1.1 ) x 107>
(2.1740.12) x 103
(9.7 +1.1 )x 1074
(1.184+0.22) x 10~4
(1.9440.21) x 10—3
(6.05+0.31) x 10~3
(3.1640.17) x 103
< 2.0 x 10~4
<4 x 1074
<9 x 1072
<6 x 1072
<23 x 10~4
(1.4 £0.5 ) x 103
(2.8240.29) x 103
(9.7 £25 ) x 10~4
(3.7 £0.6 ) x 10—3
(1.9040.35) x 10~3
(1.1840.15) x 103
(8.0 £0.7 ) x 10~4
(2.2140.08) x 10~4
(7.0 £0.7 ) x 1074
(3.5 +£0.4 )x 1074
(5.2 £0.6 ) x 10~
(6.0 +1.4 ) x 107>
(21 +0.7 ) x 1073
(1.0440.28) x 10—3
(1.224+0.26) x 10~ 4
< 88 x 104
(1.2740.11) x 10—3
(1.37+0.12) x 103
(2.3440.21) x 10—3
(2.2140.18) x 10~3
(3.274+0.24) x 10~4
(1.1840.13) x 103
<5 x 104
<5 x 10~4
<5 x 10~4
(1.2540.12) x 10~3

CL=90%

CL=90%
CL=90%
CL=90%
CL=90%
CL=90%

S=1.3

CL=90%

CL=90%
CL=90%
CL=90%

S=1.3
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K+ PpA(1520)+ c.c.

A(1520) A(1520)

>030
yty—

5(1385)" X (1385)"
Z(138:5)_f(1385)+

K-A=T+ cc.

=0=

Ne nt ™

vJ/¥(1S)
vp°

YW

Y

vy

et e J/Y(1S)

(2.9 £0.7 ) x 10~4
(3.1 +12 )x 1074
(45 +0.4 ) x 10~4
(4.0 £0.7 ) x 10~4
(1.6 +0.6 ) x 10~4
(2.3 £0.7 ) x 1074
(1.94+0.35) x 10~ 4
(3.1 £0.8 ) x10~%
(4.8 £0.7 ) x 10~4
<7 x 104

Radiative decays

(1.4040.05) %

<9 % 10—
<8 x 10— 6
<6 % 10— 6

(2.0440.09) x 10~4
(1.54+0.33) x 10~4

S=1.7

CL=90%

CL=90%
CL=90%
CL=90%

The following off-diagonal array elements

CONSTRAINED FIT INFORMATION

A multiparticle fit to x1(1P), xc0(1P)., xc2(1P), and (25)
with 4 total widths, a partial width, 25 combinations of partial
widths obtained from integrated cross section, and 84 branching
ratios uses 247 measurements to determine 49 parameters. The

overall fit has a X2 = 376.9 for 198 degrees of freedom.

are the correlation

coefficients

<5pz-5pj>/(6pz~5pj), in percent, from the fit to parameters p;, including the branching

fractions, x; = T;/Tiotal-

X2 24

X3 9 2

X30 5 1 28

X3 8 2 10 3

X36 4 1 5 1 14

42 8 2 8 3 18 11

43 7 2 8 2 18 10 14

X50 5 1 5 2 9 5 7 7

X55 7 2 6 2 9 5 7 7 4

X56 3 1 4 1 3 -1 7 7 3 3
%69 4 1 5 1 13 8 10 10 5 5
Xg5 5 1 6 2 17 11 13 12 6 6
Xg9 —§ -2 -2 -3 14 9 10 10 3 1

r —26 -6 —-19 -10 15 -7 -14 -12 -10 13

X1 X Xg X30 X3 X3g a2 a3 XG0 X5
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X69 | 5
x5 | —19 9
X39 | 6 9 13
r| —4 —7 _—o _38
X56 X69 X85 X89
Xc0(1P) PARTIAL WIDTHS

— Xco(1P) F(i)I(vJ/¥(1S))/T (total) ——
F(pp) x T(vJ/¥(1S))/Ttotal Mselss/I
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

33.6+ 2.3 OURFIT

e o o We do not use the following data for averages, fits, limits, etc. ® o o
26.6+ 2.6+1.4 392 L2BAGNASCO 02 E835 PP — Xc0— J/v
487 113424 1,2 AMBROGIANI 998 E835 Bp — ~J/1

1 Calculated by us using B(J/1(1S) — et e™) = 0.0593 + 0.0010.
2Values in (I‘(pﬁ) X r('yJ/zj)(IS))/rtotaﬂ and (r(pﬁ)/rtota| X r(ny/'t/)(IS))/rtota|)

are not independent. The latter is used in the fit since it is less correlated to the total
width.

— Xco(1P) F(i)I(v7)/T(total) ——
Fr(x*t=")) x F(v7)/Motal Mgo/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT
52 + 4 OURFIT
49 +10 OUR AVERAGE Error includes scale factor of 1.8.

447+ 3.6+4.9 3.6k UEHARA 08 BELL ~y — xc0— 2(nt77)
75 +13 +8 EISENSTEIN 01 CLE2 efTe™ — eTe x,
F(0°%) x T(v7)/Meotal F3leo/T
VALUE (eV) CL% EVTS DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. ® o o

<12 90 <252 UEHARA 08 BELL vy — xo0— 2(rT77)
r(7r+ n~ Kt K-) X I-("Y'Y)/rtotal I-8|-89/r
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

40.0+3.5 OUR FIT

38.84+3.7+4.7 1.7k UEHARA 08 BELL ~y— xco— KtK atzn—
MK K=at 7= 7% x I(y7)/Ttotal 21Mgo/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

26+4+4 1094 DEL-AMO-SA..11M BABR ~y — KT K=t 7= 70
M(KT*K*(892)°7r~+c.c.) x T(v7)/Tiotal 3ogo/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

16 +4 OURFIT
16.7+6.1+3.0 495+182 UEHARA 08 BELL ~y — x,0— KTK 7t7™
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I(K*(892)°K*(892)°) x I'(v7)/Ttotal

VALUE (eV) CL% EVTS DOCUMENT ID TECN

M31Mg9/T

COMMENT

e o o We do not use the following data for averages, fits, limits, etc. o o o

<6 90 <148 UEHARA 08 BELL ~v — Xx0 — KtK—rntn—

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

18.8+ 1.3 OURFIT

23 + 5 OUR AVERAGE

207104148 103185 LUEHARA 09 BELL 106eTe” — ete n0n0

2274+ 32435 120+18 2NAKAZAWA 05 BELL 106ete” — eTe ntn—
Lwe multiplied the measurement by 3 to convert from 7070 to 7. Interference with

the continuum included.

2We have multiplied 7 7~ measurement by 3/2 to obtain w.

F(nm) x T(v7)/Teotal 368/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

9.4+23+1.2 22 1 UEHARA 10A BELL 106 ete™ — ete nn
1 Interference with the continuum not included.

Mww) x F(77)/Tiotal l3glgo/l

VALUE (eV) CL% DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. e o @

<3.9 90 Ty 128 BELL ~v — 2(rT 7~ x9)
LUsing B(w — 7t 7~ 7Y) = (89.2 + 0.7)%.

Mwe) x F(v7)/liotal 40l 8o/l

VALUE (eV) CL% DOCUMENT ID TECN COMMENT

o o o We do not use the following data for averages, fits, limits, etc. ® o o

<0.34 90 Tl

128 BELL ~vy — KT K= 7tz =0

lUsing B(¢p — KT K™) = (48.9 + 0.5)% and B(w — =7~ x0) = (89.2 + 0.7)%.

F(KtK=) x T(v7)/Ttotal T42lgo/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

13.4+1.0 OUR FIT

14.3+1.6+2.3 1534+ 17 NAKAZAWA 05 BELL 106 ete™ — ete KT K™
F(KEKL) x T(v7)/Tiotal la3lgo/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

7.0 £0.5 OURFIT

8.7 +1.7 +0.9 266 1 UEHARA 13 BELL vy — K2kKQ

e o o We do not use the following data for averages, fits, limits, etc. ® o o

7.00£0.65+0.71 134 + 12 CHEN
1 Supersedes CHEN 07B.
HTTP://PDG.LBL.GOV Page 6
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(KT K=Kt K~) x [(v7)/Ttotal M'solgo/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

6.2+0.7 OUR FIT

7.9+1.3+11 215+ 36 UEHARA 08 BELL vy — xc0— 2(KTKT)
M(¢¢) x F(v7)/Ttotal Is5Mgo/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

1.76+0.18 OUR FIT

1.72+0.33+0.14 56 + 11 lLIU 128 BELL ~v — 2(KTK™)

o o o We do not use the following data for averages, fits, limits, etc. o o o
2.3 £0.9 +04 23.6 9.6 UEHARA 08 BELL vy — x — 2(K+ K™)
1 Supersedes UEHARA 08. Using B(¢p — KT K™) = (48.9 + 0.5)%.

Xc0(1P) BRANCHING RATIOS
—— HADRONIC DECAYS —

F(2(z*77))/Teotal r/r
VALUE DOCUMENT ID

0.0234+0.0018 OUR FIT

M(pPntn=)/r(2(xt 7)) M2/
VALUE DOCUMENT ID TECN COMMENT

0.39+0.12 OUR FIT

0.39+0.12 TANENBAUM 78 MRKI (25) — vxc0
(07 + 7)) /Meotal r2/r
VALUE DOCUMENT ID

0.0091+0.0029 OUR FIT

I (f5(980)5(980)) /T total a/T
VALUE (units 10~4) EVTS DOCUMENT ID TECN  COMMENT
6.6+2.1+0.1 36+9  LABLIKIM 046 BES  4(25) — ~y2nt2n—

L ABLIKIM 04G reports [M(xco(1P) —  (980)(980)) /Tiorall % [B(¢(25) —
¥YXc0(1P))] = (6.5 £ 1.6 £1.3) x 10— which we divide by our best value B(¢(25) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

NG 70 7r°) /Ttotal s/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
3.3+0.440.1 17514 lHE 088 CLEO ete™ — ~hth=hORO

L HE 08B reports 3.54 =+ 0.10 =+ 0.43 =+ 0.18 % from a measurement of [M(xco(1P) —
at 7™ 7070) /Ml X [B(#(2S) — X co(1P))] assuming B(1(2S) — vxo(1P)) =
(9.22+£0.11 +0.46) x 10~2, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 £ 0.20) x 10~2. Qur first error is their experiment’s error and our second error
is the systematic error from using our best value.
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Mptn~ 7%+ cc.)/Total e/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.94+0.440.1 13585 L2HE 088 CLEO ete™ — ~hTh=hORO

L HE 08B reports 3.04 = 0.18 + 0.42 =+ 0.16 % from a measurement of [M(xco(1P) —
pt 04 c.c.)/Tiotall X [B(¥(2S) —  ~vxc0(1P))] assuming B(4(25) —
YXc0(1P)) =(9.224+0.1140.46) x 102, which we rescale to our best value B(¥(2S) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 Calculated by us. We have added the values from HE 08B for p+7r_7r0 and p— 7t a0
decays assuming uncorrelated statistical and fully correlated systematic uncertainties.

[ (47°) /T eotal P2/
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
3.3+0.4+0.1 3296 1 ABLIKIM 11A BES3 ete™ — 4(25) — vxco

L ABLIKIM 11A reports (3.34+0.06£0.44) x 103 from a measurement of M (xco(1P) —
47r0)/rtota|] x [B((2S) — 7Xc0(1P))] assuming B(y(2S) — ’YXCO(LD)) = (9.62 +
0.31) x 102, which we rescale to our best value B(¥(2S) — vx0(1P)) = (9.79 £

0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

I'(1r+1r— K+ K‘)/I'tota| g/l
VALUE (units 10-3) DOCUMENT ID
18.11+1.4 OURFIT

MKt K*(892)°7~ +c.c.)/M(xtn~ KT K™) l30/Ts
VALUE DOCUMENT ID TECN COMMENT

0.41+0.09 OUR FIT

0.41+0.10 TANENBAUM 78 MRK1 %(2S) — yxcq
I(K3(1430)°K5(1430)° — ot~ K+ K™) [Tiotal /T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

98+38+02 83 LABLIKIM 05Q BES2 (2S) — ~vxTr— KT K-

L ABLIKIM 05Q reports (10.44 + 2.371_‘;"88) x 104 from a measurement of

[M(xco(1P) — K§(1430)0K}5(1430)0 — 7t 7~ KHK™)/Tigall x [B((25) —
¥YXc0(1P))] assuming B(1(25) — vx9(1P)) = (9.22 £ 0.11 £ 0.46) x 102, which

we rescale to our best value B(¢(25) — vxg(1P)) = (9.79 £ 0.20) x 1072, Our first
error is their experiment’s error and our second error is the systematic error from using
our best value.

I(K3(1430)°K3(1430)% + c.c. —» ntn~ K K~) [Tiotal Mo/
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
80129102 62  1ABLIKIM 05Q BES2 (2S) — ~yxTa— KT K-

1 ABLIKIM 05Q reports (8.49+ 1.661_ }gg) % 10~% from a measurement of [M(xco(1P) —
K5(1430)0K%(1430)0 + c.c. —» 7™ KT KT) /Tigrall X [B¥(2S) = vxco(1P))]

assuming B(¥(2S) — vxo(1P)) = (922 £ 0.11 £ 0.46) x 102, which we rescale

HTTP://PDG.LBL.GOV Page 8 Created: 6/5/2018 18:59



Citation: M. Tanabashi et al. (Particle Data Group), Phys. Rev. D 98, 030001 (2018)

to our best value B(1(2S) — vxo(1P)) = (9.79 & 0.20) x 1072, Our first error is
their experiment’s error and our second error is the systematic error from using our best

value.
M(K1(1270)t K~ +c.c. = 7t 7~ KT K™) /Tiotal M/l
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
6.31+1.9+0.1 68 1 ABLIKIM 05Q BES2 (2S) —» yrta KT K—

1 ABLIKIM 05Q reports (6.66+ 1311_%2(1)) %103 from a measurement of [M(xco(1P) —
K1(1270)T K=+ cc. — ata= KT K™) /Tiorall X [B(¥(2S) — vxo(1P))] assum-
ing B(¥(2S) — vxo(1P)) = (9-22 £ 0.11 & 0.46) X 102, which we rescale to our

best value B(¢(25) — ~vx0(1P)) = (9.79 & 0.20) x 1072 Our first error is their
experiment’s error and our second error is the systematic error from using our best value.
The measurement assumes B(K7(1270) — K p(770)) = 42 £ 6%.

[ (Ky(1400)* K~ + c.c. - m+n~ K+ K~) /Teotal l12/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<27 90 1 ABLIKIM 05Q BES2 (2S) — yntn— KT K~

L ABLIKIM 05Q reports < 2.85 x 10~3 from a measurement of [M(xco(1P) —
K1(1400)T K~ + c.c. = 7777 KT K™) /Tiorall % [B(1(2S) — vx0(1P))] as-
suming B(¢(2S) — vx0(1P)) = (9.22 £ 0.11 & 0.46) x 1072, which we rescale to
our best value B(¥(2S) — 7yxo(1P)) = 9.79 x 1072, The measurement assumes
B(K1(1400) — K*(892)7) = 94 + 6%.

I (f5(980) (980)) /Ttotal M3/
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
1621104+03 28 lABLIKIM 05Q BES2 ¢(25) — ymnta— Kt K—

LABLIKIM 05Q reports [[(xco(1P) —  £5(980)%(980))/Tyorall % [B(¥:(2S) —

YXxc0(1P))] = (1.59i0.501_8:$g) %102 which we divide by our best value B(¢(25) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value. One of the f;(980) mesons

is identified via decay to 7 7~ while the other via KT K— decay.

I (f5(980) /5(2200)) /T ¢otal M4/
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
79%20+02 77 1ABLIKIM 05Q BES2 (2S) — ~yxta— KT K-

1 ABLIKIM 05Q reports (8.42+ 1.421_%28) % 10~% from a measurement of [M(xco(1P) —

f5(980) 5(2200)) /Total] X [B(¥(2S) —  vxo(1P))] assuming B(y(2S) —
¥Xc0(1P)) =(9.22£0.1140.46) x 102, which we rescale to our best value B(y(2S) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Qur first error is their experiment's error and our
second error is the systematic error from using our best value. The fy mesons are iden-

tified via f;(980) — 7T 7 and fy(2200) — KT K~ decays.
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I (f5(1370) 5(1370)) /Ttotal s/l
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<27 90 L ABLIKIM 05Q BES2 1(2S) —» yata Kt K~

LABLIKIM 05Q reports < 2.9 x 10~% from a measurement of M(xco(1P) —
f5(1370) 15(1370)) /Tiotal]l % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXc0(1P)) =(9.224+0.1140.46) x 102, which we rescale to our best value B(¥(2S) —
¥Xc0(1P)) =9.79x 10~2. One of the f5(1370) mesons is identified via decay to at o~

while the other via KT K— decay. Both branching fractions for these f; decays are im-
plicitly included in the quoted result.

I (fo(1370) f5(1500)) /T'total M6/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<17 90 1 ABLIKIM 05Q BES2 (25) — yntn— K+ K-

LABLIKIM 05Q reports < 1.8 x 10~% from a measurement of [M(xco(1P) —
f(1370) £5(1500)) /Tiorall % [B(¥(2S) —  vxco(1P))] assuming B(¢(2S) —
¥Xc0(1P)) =(9.22£0.1140.46) x 102, which we rescale to our best value B(y(2S) —
YXc0(1P)) = 9.79 x 1072, The fo mesons are identified via fy(1370) — 7t 7~ and

fo(1500) — Kt K= decays. Both branching fractions for these f decays are implicitly
included in the quoted result.

I (fo(1370) f5(1710)) /Teotal M7/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
6.7+33+01 61  1ABLIKIM 05Q BES2 (2S) — ~vxTr— KT K-

1 ABLIKIM 05Q reports (7.12+ 1.851_‘;"%2) %10~ from a measurement of M (xco(1P) —

f5(1370) 15 (1710)) /Total]l % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXc0(1P)) =(9.224+0.1140.46) x 102, which we rescale to our best value B(¥(2S) —
¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value. The f; mesons are identi-

fied via f5(1370) — 7T 7~ and fo(1710) — K+ K~ decays. Both branching fractions
for these fy decays are implicitly included in the quoted result.

I (f(1500) f(1370)) /T'total Mg/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<13 90 1 ABLIKIM 05Q BES2 #(25) — yrtr— K+ K-

LABLIKIM 05Q reports < 1.4 x 10~% from a measurement of [M(xco(1P) —
f(1500) £5(1370)) /Tiorall % [B(¥(2S) —  vxco(1P))] assuming B(¢(2S) —
¥Xc0(1P)) =(9.22£0.1140.46) x 102, which we rescale to our best value B(y(2S) —
YXco(1P)) = 9.79 x 1072, The fo mesons are identified via f3(1500) — 7t 7~ and

fo(1370) — Kt K= decays. Both branching fractions for these f decays are implicitly
included in the quoted result.

I (f5(1500) f5(1500)) /T total Mo/l
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<0.5 90 L ABLIKIM 05Q BES2 (2S) —» yata Kt K~
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L ABLIKIM 05Q reports < 0.55 x 10~% from a measurement of IMxeo(1P) —
f(1500) £5(1500)) /Tiotall % [B(¥(2S) —  vxo(1P))] assuming B(1(25) —
YXc0(1P)) =(9.224+0.114+0.46) x 10~2, which we rescale to our best value B(y(2S) —
YXco(1P)) = 9.79 x 10=2. One of the f5(1500) is identified via decay to 7T 7~ while

the other via KT K~ decay. Both branching fractions for these fy decays are implicitly
included in the quoted result.

I (f5(1500) 5(1710)) /T ¢otal 20/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<0.7 90 L ABLIKIM 05Q BES2 1(2S) —» yata Kt K™

LABLIKIM 05Q reports < 0.73 x 10~% from a measurement of [Mxco(1P) —
fo(1500) y(1710)) /Tl x [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXxc0(1P)) = (9.22:|:O.11:|:0.46)><10_2, which we rescale to our best value B(¢(25) —
YXc0(1P)) = 9.79 x 1072, The fo mesons are identified via f;(1500) — 7T 7~ and

fo(1710) — Kt K= decays. Both branching fractions for these f decays are implicitly
included in the quoted result.

MKt K= 7t 7~ 7°) /Tiotal F21/T

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

8.61+0.13+0.94 9.0k 1 ABLIKIM 138 BES3 eTe™ — 4(25) — vxgo
1 Using 1.06 x 108 1(2S) mesons and B(1(25) — x07) = (9.68 £ 0.31)%.

M(KYKEaFrtn™) Migral 22/T

VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

422+0.10+0.43 2.7k 1 ABLIKIM 138 BES3 eTe™ — 9(25) — vxco
1 Using 1.06 x 108 1(2S) mesons and B(1(25) — x07) = (9.68 £ 0.31)%.

M(K* K= 7%79) /Teotal M3/l

VALUE (%) EVTS DOCUMENT ID TECN COMMENT

0.56+0.09+0.01 213.5 1 HE 088 CLEO ete™ — ~hth= hORO

L HE 08B reports 0.59 =+ 0.05 =+ 0.08 = 0.03 % from a measurement of [M(xco(1P) —
KT K™ 7979) /Torall X [B((2S) — vxo(1P))] assuming B(4(2S) — vxco(1P))
= (9.22 £+ 0.11 £ 0.46) x 1072, which we rescale to our best value B(y(2S) —

YXc0(1P)) = (9.79 £ 0.20) x 1072, Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

MKt n~K°n%+c.c.)/Tiotal o4/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.49+0.33+0.05  401.7 1 HE 088 CLEO ete — ~hth=hORO

1HE o8B reports 2.64 + 0.15 4+ 0.31 + 0.14 % from a measurement of [F(XCO(IP) —
KT~ K970+ cc)/Tiorall % [B((2S) —  vxco(1P))] assuming B(4(2S) —
YXc0(1P)) =(9.224+0.114+0.46) x 10~2, which we rescale to our best value B(y(2S5) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.
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Mpt K~ K%+ c.c.)/Tiotal a5/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
1.21+0.21+0.02 179.7 1 HE 088 CLEO ete™ — ~hth=hORO

L HE 08B reports 1.28 = 0.16 =+ 0.15 =+ 0.07 % from a measurement of [M(xco(1P) —
pT K= KO+ cc)/Tiorall x [B®(2S) —  vxco(1P))] assuming B((2S) —
YXc0(1P)) =(9.224+0.1140.46) x 102, which we rescale to our best value B(¥(2S) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

r(k*(892)~ Kt a0 — K+ 7~ K%7%+c.c.) /Teotal a6/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.46+0.12+-0.01 64.1 LHE 088 CLEO ete™ — ~yhTh=hOKO

1HE o8B reports 0.49 4+ 0.10 4+ 0.07 + 0.03 % from a measurement of [F(XCO(IP) —
k*(892) " Kt 70 — KT77KOn0 4 cc)/Fgpall X [B@(2S) — vxo(1P))] as-
suming B(¢(2S) — vxo(1P)) = (9.22 £ 0.11 & 0.46) x 102, which we rescale to

our best value B(¥(2S) — vxo(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their
experiment's error and our second error is the systematic error from using our best value.

M(KKEnt 7)) [Teotal Fa7/T
VALUE (units 1073) EVTS DOCUMENT ID TECN  COMMENT
5.74+1.0+0.1 152+ 14 L ABLIKIM 050 BES2  %(25) — 7Xc0

LABLIKIM 050 reports [M(xc0(1P) — KL KLata™) /Mgl x [B(2S) —
¥Xxc0(1P))] = (0.558 £ 0.051 + 0.089) x 10~3 which we divide by our best value

B(¥(2S) — vxo(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

I'(K"‘ K_ﬂ"fo)/rtotal Mg/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.30+0.07+0.01 56.4 LHE 088 CLEO ete — ~hth=hORO

1HE o8B reports 0.32 4+ 0.05 4+ 0.05 + 0.02 % from a measurement of [F(XCO(IP) —
KT K™ nm9) /Tiorall X [B(1(2S) = vxco(1P))] assuming B(¥(2S) — vxo(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(v(2S) — vx0(1P))

= (9.79 + 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

F(3(zt 7)) /Trotal 29/l
VALUE (units 1073) DOCUMENT ID TECN COMMENT

12.0+1.8 OUR EVALUATION Treating systematic error as correlated.

12.0+1.7 OUR AVERAGE

11.7+1.0+1.9 1 BAl 998 BES  (25) — 7YX
12.542.940.5 1 TANENBAUM 78 MRK1 %(25) — vxcg

1 Rescaled by us using B(1(2S) — YXc0)= (94 £ 0.4)% and B(¥(2S) —
J/p(AS) 7T 7)) = (32.6 + 0.5)%.

M(KtK*(892)°n~ +c.c.) /Tiotal M30/T
VALUE DOCUMENT ID
0.0075+0.0016 OUR FIT
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r(K * (892)0?* (892)0)/ Mtotal I-31/ r
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
1.72+3-90 1 0.04 64 LABLIKIM  05Q BES2 (2S) — ynta— Kt K~

e o o We do not use the following data for averages, fits, limits, etc. o o @
1.56+0.4040.03 3046 23 ABLIKIM 04H BES Repl. by ABLIKIM 05Q

LABLIKIM 05Q reports [[(xco(1P) — K*(892)0K*(892)0) /Tiorall x [B((2S) —

¥Xxc0(1P))] = (0.168 & 0.0351_8'826) x 1073 which we divide by our best value

B((2S) — vxo(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

2 Assumes B(K*(892)0 — K~ xt) = 2/3.
3 ABLIKIM 04H reports [[(xco(1P) — K*(892)0K*(892)0) /I orall x [B(¥(25) —
YXc0(1P))] = (1.53£0.294+0.26) x 10—* which we divide by our best value B((2S) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I(77)/Teotal a2/l

VALUE (units 10-3) DOCUMENT ID

8.51+0.33 OUR FIT

r(,n.O ﬂc)/ Mtotal l3s/T

VALUE CL% DOCUMENT ID TECN COMMENT

<1.6 x 103 90 1 ABLIKIM 15N BES3 (2s)eTe™ — ~yn0n,
Lusing B — K& KEaT)xB(KS — 7t 77 )xB(x0 — 77) = (1.66+£0.11) x 102,

[ (71)/Ttotal l36/T

VALUE (units 10~3) DOCUMENT ID

3.01+0.19 OUR FIT

[(nn)/T (w) l36/32

VALUE DOCUMENT ID TECN COMMENT

0.353+0.025 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. o o @

0.26 +0.09 503 1L ANDREOTTI 05C E835 Pp — 2 mesons
0.24 +0.10 +0.08 LAl 03¢ BES  (2S) — 5y
1 We have multiplied 7070 measurement by 3 to obtain 7.
/
r("?’l )/ Mtotal 37/l
VALUE (units 1075) CL% EVTS DOCUMENT ID TECN COMMENT
9.1+1.140.2 85 L ABLIKIM 17A1 BES3  4(2S) — ~n'n |
e o o We do not use the following data for averages, fits, limits, etc. o o @
<24 90 35+ 13 2 ASNER 09 CLEO #(2S5) — ~n'n
<50 90 3 ADAMS 07 CLEO %(25) — vxco
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1 ABLIKIM 17l reports (8.92+0.8440.65) x 102 from a measurement of IM(xco(1P) —
nn/)/rtota” x [B(y(2S) — ’YXco(lp))] assuming B(¢(2S) — ’YXCO(LD)) =(9.99 +
0.27) x 102, which we rescale to our best value B(¥(25) — vxo(1P)) = (9.79 £

0.20) x 10~2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ASNER 09 reports < 0.25 x 103 from a measurement of [M(xco(1P) — nn/)/rtota”
X [B(¥(2S) — vx(1P))] assuming B(1)(2S) — vxo(1P)) = (9.22+£0.11+0.46) x

102, which we rescale to our best value B((2S) — vxo(1P)) = 9.79 x 1072,

3Superseded by ASNER 09. ADAMS 07 reports < 0.5 x 10~3 from a measurement
of [M(xco(1P) — 11')/Tiotall * [B(¥(2S) — vxco(1P))] assuming B(¥(2S) —
YXc0(1P)) =(9.224+0.1140.46) x 102, which we rescale to our best value B(¥(2S) —
Yxc0(1P)) = 9.79 x 10~2.

F(7' ') /Teotal I3/l
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
2.17+0.12 OUR AVERAGE

2.23+0.13+0.05 2.5k 1 ABLIKIM 17A1 BES3  9(2S) — ~n'#/
2.00+0.21+0.04 0.4k 2 ASNER 09 CLEO (2S5) — ~7n'7n

e o o We do not use the following data for averages, fits, limits, etc. o o @
1.60+0.41+0.03 23 3 ADAMS 07 CLEO %(25) — vxco

1 ABLIKIM 17l reports (2.19:&0.03:&0.14)x10_3 from a measurement of [I"(x .q(1P) —
7' 1) /Tiotall X [B(1(25) = vxco(1P))] assuming B(1(25) — vxo(1P)) = (9.99 £
0.27) x 102, which we rescale to our best value B(¥(25) — vxo(1P)) = (9.79 £

0.20) x 10~2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.
2 ASNER 09 reports (2.12£0.13 £ 0.21) x 103 from a measurement of IM(xco(1P) —

7'1') /Tiotall X [B(1(25) = vxco(1P))] assuming B(3(25) — vx0(1P)) = (9-22+
0.11 £ 0.46) x 1072, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.79 £+ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

3Superseded by ASNER 09. ADAMS 07 reports (1.7 + 0.4 £+ 0.2) x 10~3 from a
measurement of [I(x.o(1P) — ') /Teotall X [B((2S) — X c0(1P))] assum-
ing B(¥(2S) — ~x0(1P)) = 0.0922 4 0.0011 £ 0.0046, which we rescale to our
best value B(1/(2S) — ~vxo(1P)) = (9.79 £ 0.20) x 10=2. OQur first error is their
experiment’s error and our second error is the systematic error from using our best value.

I'(ww) /Ttotal 39/T
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

0.97+0.11 OUR AVERAGE

0.93+0.11+0.02 991 1 ABLIKIM 11K BES3 ¢(2S) — ~ hadrons
2.16+0.66+0.04 38.1+9.6 2 ABLIKIM 05N BES2  9(25) — yxoo — 767

L ABLIKIM 11K reports (0.95+0.03+0.11) x 103 from a measurement of [M(xco(1P) —
ww) /Tiotall X [B(¥(2S) — vxc0(1P))] assuming B(1(25) — vxo(1P)) = (9.62 +
0.31) x 10~2, which we rescale to our best value B(¥(2S) — vx0(1P)) = (9.79 £

0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ABLIKIM 05N reports [F(XCO(IP) — ww)/rtota” x [B((2S) — ’YXCO(IP))] =
(0.212 £+ 0.053 + 0.037) x 10~3 which we divide by our best value B(¢(2S) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.
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I'(w ¢) / lMtotal I-40/ r
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
1.184+0.22+0.02 76 1 ABLIKIM 11k BES3 (2S) — ~ hadrons

L ABLIKIM 11K reports (1.2+0.1£0.2) x 10~4 from a measurement of M (xco(1P) —
w®) /Tiotall X [B(¥(25) — vxo(1P))] assuming B(¥(25) — vxg(1P)) = (9.62 +
0.31) x 1072, which we rescale to our best value B(¥(2S) — vx0(1P)) = (9.79 £

0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

MWK+ K™)/Tiota Faa/T

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

1.9440.06+0.20 1.4k 1 ABLIKIM 138 BES3 ete™ — 4(25) — vxeo
1 Using 1.06 x 108 (25) mesons and B((25) — Xc07) = (9.68 £ 0.31)%.

F(K*K™)/Teotal Fa/T

VALUE (units 103) DOCUMENT ID

6.05+0.31 OUR FIT

I(K$ KE)/Tiotal Fa3/T

VALUE (units 103) DOCUMENT ID

3.16+0.17 OUR FIT

F(KSKS)/T (w) la3/T32

VALUE DOCUMENT ID TECN COMMENT

0.372+0.023 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. ® o o
0.31 +£0.05 £0.05 1,2 cHEN 078 BELL ete™ — e+e_XC0

1 Using M(w7) %X T(v7)/Ttotal from the 7T 7~ measurement of NAKAZAWA 05 rescaled
by 3/2 to convert to m.

2 Not independent from other measurements.

r(k2KQ)/r(K+K™) Fa3/Ta2
VALUE DOCUMENT ID TECN  COMMENT
0.52+0.04 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. o o @
0.494+0.07+0.08 1,2 cHEN 07B BELL et e~ — eT e” Xco

1 Using F(K+ K_) X r(w)/rtota, from NAKAZAWA 05.
2 Not independent from other measurements.

r(7r+ T n)/rtotal Faa/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT

<0.20 90 1 ATHAR 07 CLEO w(2S) — vht h™ RO

o o o We do not use the following data for averages, fits, limits, etc. ® o o

<1.0 90 2 ABLIKIM 06R BES2 (25) — X0
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L ATHAR 07 reports < 0.21 x 103 from a measurement of M (xco(1P) — 7r+7r_77)/
Miotall X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.22 &+
0.11 £ 0.46) x 1072, which we rescale to our best value B(¥(2S) — vxo(1P)) =
9.79 x 102

2 ABLIKIM 06R reports < 1.1 x 10~3 from a measurement of M (xco(1P) — 7r+7r_77)/
Miotall X [B(¥(2S) — vx(1P))] assuming B(¥(2S) — vxo(1P)) = (9.2 £0.4) x
10~2, which we rescale to our best value B(¥(2S) — vxo(1P)) = 9.79 x 1072,

— !
r(7r+7r n )/rtotal las/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<0.4 90 1 ATHAR 07 CLEO (2S) — yhTh=#O

1 ATHAR 07 reports < 0.38 x 10~3 from a measurement of IM(xeo(1P) — ata= )/
rtota|] x [B((2S) — ’YXCO(LD))] assuming B(¥(2S) — ’YXCO(LD)) = (9.22 +
0.11 £ 0.46) x 10~2, which we rescale to our best value B(¥(2S) — vx0(1P)) =
9.79 x 1072,

MKOK+ 7~ +c.c.)/Tiotal la6/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT

<0.09 90 1 ATHAR 07 CLEO (2S5) — yhTh= #O

e o o We do not use the following data for averages, fits, limits, etc. o o @

<0.7 90 2,3 ABLIKIM 06rR BES2 4(2S) — vx.0

<0.7 90  34BAl 998 BES  %(25) — vXc0

1 ATHAR 07 reports < 0.10 x 103 from a measurement of [M(xco(1P) — KoK+ 7=+
c.c.)/Tiotall X [B(¥(25) — vx0(1P))] assuming B(¢(2S) — vxo(1P)) = (9.22 £
0.11 £ 0.46) x 1072, which we rescale to our best value B(¥(2S) — vxo(1P)) =

9.79 x 1072,
2ABLIKIM 06R reports < 0.70 x 10~3 from a measurement of IMxco(1P) —

KOK+7r— 4 c.c.)/Tiotall X [B(®(2S) —  vxo(1P))] assuming B(¢(25) —
YXc0(1P)) = (9.2 £ 0.4) x 1072, which we rescale to our best value B(y(2S) —
Yxco(1P)) = 9.79 x 1072

3We have multiplied the K% Kt 7~ measurement by a factor of 2 to convert to
KOK+n—.

4Rescaled by us using B(1)(25) — YXc0)= (94 £ 0.4)% and B(y(2S) —
J/p(1S)n T 77) = (32.6 £ 0.5)%.

(Kt K= 7°) /Teotal Faz/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<0.06 90 1 ATHAR 07 CLEO (2S) — yhTh=HO

1 ATHAR 07 reports < 0.06 x 10~3 from a measurement of M (xco(1P) — KT K~ 71'0)/
Miotall X [B(¥(2S) — vxo(1P))] assuming B(1(2S) — vxo(1P)) = (9.22+0.11+
0.46) x 102, which we rescale to our best value B((2S) — vxo(1P)) =9.79x 102

M(KT K~ 1) /Tiotal Tag/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<0.23 90 1 ATHAR 07 CLEO (2S) — yhTh= HO
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L ATHAR 07 reports < 0.24 x 103 from a measurement of IM(xeo(1P) — Kt K= n)/
Miotall X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.22 +
0.11 £ 0.46) x 1072, which we rescale to our best value B(¥(2S) — vxo(1P)) =
9.79 x 102

MKt K~ K$KY)/Tiotal Fag/T
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
1.41:+0.470.03 168+48 1 ABLIKIM 050 BES2  #(25) — vXc0

LABLIKIM 050 reports [[(xco(1P) — KT K™ KLKL)/Migrall x [B(¥(2S) —
YXxc0(1P))] = (0.138 £ 0.039 £ 0.025) x 10~3 which we divide by our best value

B((2S) — vxo(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

M(K* K=Kt K™)/Tiotal Mso/l
VALUE (units 10~3) DOCUMENT ID

2.82:0.29 OUR FIT

r(K+ K~ ¢)/rtotal I-51/r
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
0.97+0.250.02 38 1 ABLIKIM 06T BES2 (25) — ~v2Kt2K—

1 ABLIKIM 06T reports (1.03+0.22+0.15) x 103 from a measurement of M (xco(1P) —
KT K™ 6)Tiorall X [B((2S) = 7xco(1P))] assuming B(1:(25) — 7xco(1P)) =
(9.2 £ 0.4) x 102, which we rescale to our best value B(¥(25) — vxo(1P)) =

(9.79 £+ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

FM(K°K+n~ ¢+ c.c.)/Teotal Ms2/T

VALUE (units 10_3) DOCUMENT ID TECN COMMENT

3.68+0.30+0.50 ABLIKIM 15M BES3  %(2S) — vxc0

rK+K- 0 ) /Ttotal ls3/l

VALUE (units 10-3) DOCUMENT ID TECN  COMMENT

1.90+0.14+0.32 ABLIKIM 15M BES3  %(2S) — vxc0

r(¢7"+ m 7"0)/ Mtotal Msa/T

VALUE (units 10-3)  EVTS DOCUMENT ID TECN  COMMENT

1.18+0.07+0.13 538 1 ABLIKIM 138 BES3 ete™ — 4(25) — vxeo
1 Using 1.06 x 108 (25) mesons and B((25) — Xc07) = (9.68 £ 0.31)%.

M (¢9)/Teotal Iss/T

VALUE (units 10-3) DOCUMENT ID

0.80+0.07 OUR FIT

r(P?) /Ttotal Mse/I

VALUE (units 104 DOCUMENT ID

2.21+0.08 OUR FIT
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r(P?"fo)/ Mtotal Ms7/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.704+0.07 OUR AVERAGE Error includes scale factor of 1.3.

0.73+0.06+0.01 Lonvisi 10 CLE3 ¢(25) — vyppX
0.56-£0.1240.01 2 ATHAR 07 CLEO (2S) — ~hth—hHO

LONYISI 10 reports (7.76 + 0.37 + 0.51 + 0.39) x 10~% from a measurement of
[M(xco(1P) = PP7O)/Tigpall X [B(¥(2S) = vxco(1P))] assuming B(y(2S) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.
2 ATHAR 07 reports (0.59 £ 0.10 £ 0.08) x 10~ 3 from a measurement of [M(xco(1P) —

pPT0) /Tiotall ¥ [B((2S) — vxc0(1P))] assuming B(1(2S) — vxc0(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I (pPn)/Ttotal Isg/l
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.35+0.04 OUR AVERAGE

0.3540.04-+0.01 L onvis 10 CLE3 4(2S) — vppX
0.37-40.1140.01 2 ATHAR 07 CLEO (2S) — ~hth— O

LONYISI 10 reports (3.73 + 0.38 + 0.28 + 0.19) x 10~% from a measurement of
[F(xco(IP) = PPN)/Tiotall * [B(¥(2S) — vxco(1P))] assuming B(y(25) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —

YXc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.
2 ATHAR 07 reports (0.39 £ 0.11 4+ 0.04) x 10~ 3 from a measurement of [M(xco(1P) —

PP1)/Tiotall X [B(¥(25) = vxc0(1P))] assuming B(¥(25) — vxo(1P)) = (9.22+
0.11 £ 0.46) x 10~2, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

I(pPw)/Mtotal so/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT
0.52+0.06+0.01 1 oNvYisl 10 CLE3 (2S) — ~vppX

LONYISI 10 reports (5.57 £ 0.48 + 0.42 + 0.14) x 10~4 from a measurement of
[F(xco(IP) =  PBw)/Tigrall * [B(1(25) —  vxo(1P))] assuming B(y(25) —
YXc0(1P)) = (9.22:|:O.11:|:0.46)><10_2, which we rescale to our best value B(¢(25) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

r(P3¢)/ Mtotal Feo/T
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
6.0+1.4+0.1 42 + 8 L ABLIKIM 11F BES3 (2S) — yppKT K~

1 ABLIKIM 11F reports (6.12+1.18+£0.86) x 102 from a measurement of [M(xco(1P) —
PP®)/Tiotal] X [B(1(25) = vxo(1P))] assuming B(1(25) — vxo(1P)) = (9.62+
0.31) x 102, which we rescale to our best value B(¥(25) — vxo(1P)) = (9.79 £

0.20) x 10~2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.
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F(pprt ™) /Teotal le1/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT
2.1 +£0.7 OUR EVALUATION Error includes scale factor of 1.4. Treating systematic

error as correlated.

2.1 £1.0 OUR AVERAGE Error includes scale factor of 2.0.

1.57+0.2140.53 1 gal 998 BES  (25) — 7YX
4.204+1.15+0.18 1 TANENBAUM 78 MRK1 %(25) — vxco

1 Rescaled by us using B(¢(25) — YXc0)= (94 £ 0.4)% and B(y(2S) —
J/p(1S) 7T 7)) = (32.6 £ 0.5)%.

I'(pﬁ'lro 1r°)/rt°ta| r52/r
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.10440.028+0.002 39.5 LHE 088 CLEO ete — ~hth=hORO

1HE o8B reports 0.11 4+ 0.02 4+ 0.02 + 0.01 % from a measurement of [F(XCO(IP) —
pBr070) /Mol X [B(¥(2S) — vxco(1P))] assuming B(1(25) — vxo(1P)) =
9.224+0.11+0.46) x 10_2, which we rescale to our best value B(¢(25) — vx (1P
c0

= (9.79 + 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M(ppK* K~ (non-resonant)) /Miotal 63/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
1.22+0.26+0.02 48 + 8 1 ABLIKIM 11F BES3 (2S5) — ~vppKT K™

1 ABLIKIM 11F reports (1.24+0.20+£0.18) x 104 from a measurement of [M(xco(1P) —
pPKT K~ (non-resonant)) /Tyo14] X [B(¥(2S) — ~vx0(1P))] assuming B(4(2S) —
¥Xc0(1P)) = (9.62 £ 0.31) x 102, which we rescale to our best value B(y(2S) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

=10 10

I-(PPKs Ks)/rtotal Fea/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<8.8 90 1 ABLIKIM 06D BES2 ¢(25) — xc07

1 Using B(#(2S) — x07) = (9.2 £ 0.5)%
I-(Pﬁ""-)/rtotal les/T
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
12.7+1.1 OUR AVERAGE
12.94+1.1+0.3 5150 1 ABLIKIM 12) BES3 (2S) — ~pAn—
11.24£3.140.2 2 ABLIKIM 061 BES2 (25) — ypr— X

L ABLIKIM 12J reports [F(XCO(IP) — pﬁw_)/rtota” x [B((2S) — ’YXCO(IP))] =
(1.26 + 0.02 + 0.11) x 10—4 which we divide by our best value B(1/(25) — YXc0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 061 reports [M(xco(1P) — pAm ™) /Tiotall X [B(¥(2S) — vx0(1P))] =
(1.10 £ 0.24 £ 0.18) x 10~% which we divide by our best value B(¥(2S) — vxo(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
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F(pnnt)/Miotal o6/
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
13.7+1.2+0.3 5808 1 ABLIKIM 12) BES3 (25) — ypnxT

1 ABLIKIM 125 reports [M(xco(1P) — T)n7r+)/rtota|] X [B(¥(2S5) — vxco(1P))] =
(1.34 £0.03 £0.11) x 10~% which we divide by our best value B(¥(2S) — vxo(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

r(pﬁ‘lr- Wo)/rtotal I-67/r
VALUE (units 107%) EVTS DOCUMENT ID TECN  COMMENT
23.4+2.040.5 2480 1 ABLIKIM 12) BES3 (25) — ~pan— 0

L ABLIKIM 121 reports [ (xcq(1P) — p7im ™ 70) /Tiorall X [B(#(2S) — vxco(1P))] =
(2.29 £ 0.08 £ 0.18) x 10~# which we divide by our best value B(¥(2S) — vxo(1P))

= (9.79 £ 0.20) x 10=2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

r(pnat 7% /Tiotal Fes/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
22.1+1.8+0.5 2757 1 ABLIKIM 12) BES3 4(2S) — ~ypnrt a0

LABLIKIM 123 reports [ (xcq(1P) — BT 70) /Tiorall X [B(#(2S) — vxco(1P))] =
(2.16 £ 0.07 £ 0.16) x 10~% which we divide by our best value B(¥(2S) — vxo(1P))

= (9.79 £ 0.20) x 10=2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

[ (AA) /T total eo/T
VALUE (units 10~4) DOCUMENT D
3.27+0.24 OUR FIT
F(AA7+77) [Tiotal 70/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT

118+12+42 426 1 ABLIKIM 121 BES3 ¢(25) —» yAAxtx—
e o o We do not use the following data for averages, fits, limits, etc. ® o o
<400 90 2 ABLIKIM 06D BES2 (2S) — Xc0?

L ABLIKIM 121 reports (119.0+6.4+11.4) x 105 from a measurement of [M(xco(1P) —

AR7 77) [Teogall X [BOH(2S) — 1xco(1P))] assuming B(1(25) — 7xco(1P)) =

9.68 .31) x 10T “, which we rescale to our best value — X0l =
68 £+ 0.3 102, which I b lue B(y(2S co(1P

(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
2 Using B((25) — xc07) = (9:2 + 0.5)%

[ (AAx* 7~ (non-resonant)) /Teotal 71/l
VALUE (units 10-5) L% DOCUMENT ID TECN  COMMENT
<50 90 1 ABLIKIM 121 BES3 %(25) — yAAxta—

LABLIKIM 121 reports < 54 x 107° from a measurement of IMxeo(1P) —
AArt 7~ (non-resonant)) /Tioia] X [B(¥(25) — vxg(1P))] assuming B(4(25) —
¥Xc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(y(2S) —
Yxco(1P)) = 9.79 x 1072
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I(X(1385)t Axr~ +c.c.)/Total F72/T
VALUE (units 10*5) CL% DOCUMENT ID TECN COMMENT
<50 90 1 ABLIKIM 121 BES3 ¢(25) — ~vX(1385)F Ax—

LABLIKIM 121 reports < 55 x 10~° from a measurement of Mxco(1P) —
>(1385) T An— + c.c.)/Tiotall X [B(¥(2S) — ~vxco(1P))] assuming B(4(25) —
YXc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(¥(2S) —
X co(1P)) = 9.79 x 10~2.

M(£(1385)~ Ant+c.c.) /Tiotal M7/
VALUE (units 10_5) CL% DOCUMENT ID TECN COMMENT
<50 90 L ABLIKIM 121 BES3 (25) — ~X(1385) Ant

LABLIKIM 12I reports < 50 x 10~° from a measurement of M(xeo(1P) —
>(1385) " Anxt + c.c.)/Tiotall X [B(#(25) — ~vxo(1P))] assuming B(4(25) —
YXc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(y(2S) —
Yxco(1P)) = 9.79 x 1072

M(K*pA+c.c.)/Tiotal 74/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

1.25+0.12 OUR AVERAGE Error includes scale factor of 1.3.

1.30+0.09-40.03 ok L2 ABLIKIM 130 BES3 (25) — vApK™T
1.01+0.1940.02 3 ATHAR 07 CLEO (2S) — yhTh= hO

L ABLIKIM 13D reports (1.32£0.03+0.10) x 10~ 3 from a measurement of [M(xco(1P) —
KTBA+ c.c.)/Tiotall X [B(¥(25) — vxo(1P))] assuming B(1/(2S) — vx0(1P))
= (9.68 £ 0.31) x 10~2, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2Using B(A — pr~) = 63.9%.

3 ATHAR 07 reports (1.07 £ 0.17 £ 0.12) x 103 from a measurement of IM(xco(1P) —
KTBA+ c.c.)/Tiotall X [B(¥(2S) — vx0(1P))] assuming B()(2S) — vxo(1P)) =
(9.22+0.11 4+ 0.46) x 102, which we rescale to our best value B((2S) — vx0(1P))

= (9.79 + 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I(K+PA(1520)+ c.c.) /Tiotal M75/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
2.940.7+0.1 62 + 12 L ABLIKIM 11F BES3 (2S) — ~yppKT K~

L ABLIKIM 11F reports (3.00+£0.58£0.50) x 10~ from a measurement of [M(xco(1P) —
KT BA(1520)+ c.c.)/Tiotall X [B(¥(25) — ~vx(1P))] assuming B(¢(2S) —
¥Xc0(1P)) = (9.62 £ 0.31) x 102, which we rescale to our best value B(y(2S) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.
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I (A(1520)A(1520)) /Total I76/T
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
3.1+1.240.1 28 + 10 L ABLIKIM 11F BES3 (2S) — vppKT K~

LABLIKIM 11F reports (3.18 £ 1.11 + 0.53) x 10~% from a measurement of
[F(XCO(IP) — /\(1520)/\(1520))/rt0ta|] x [B(¥(2S) — ’YXco(lp))] assuming
B(¥(2S) — vxo(1P)) = (962 £ 0.31) x 10~2, which we rescale to our best value

B(¥(2S) — vxo(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

M(Z9%0) /Miotal F72/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

4.510.4 OUR AVERAGE

4.7405+0.1 243 1 ABLIKIM 134 BES3 ¢(25) — x9%0
4.240.7+0.1 78+10  2NAIK 08 CLEO (25) — yx0x0

1 ABLIKIM 13H reports (4.78+£0.344+0.39) x 10~ from a measurement of [M(xco(1P) —
5050) /Migrall X [B(#(2S) = vxco(1P))] assuming B(1(2S) — vxo(1P)) =
(9.62 + 0.31) x 10~2, which we rescale to our best value B(¥(2S) — vxco(1P)) =

(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
2NAIK 08 reports (4.41 + 0.56 & 0.47) x 10~# from a measurement of [M(xco(1P) —

$050) /rgrall < [B(¥(2S) — vxco(1P))] assuming B($(2S) — vxo(1P)) =
(9.22+£0.11 4+ 0.46) x 1072, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 + 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

l'()_‘+ Z—)/rtotal I-78/r
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

4.040.7 OUR AVERAGE Error includes scale factor of 1.7.

4540.5+0.1 148 1 ABLIKIM 134 BES3 ¢(25) — 4XtZ—
3.140.74+0.1 39+7  2NAIK 08 CLEO #(25) —» ~XtX—

1 ABLIKIM 13H reports (4.54+0.42+0.30)x 10— % from a measurement of M (xco(1P) —
STT7) Tiotall X [B(¥(2S) — 7xco(1P))] assuming B((25) — vxo(1P)) =
(9.62 £ 0.31) x 1072, which we rescale to our best value B(¥(2S) — vxco(1P)) =

(9.79 £+ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
2NAIK 08 reports (3.25 £ 0.57 + 0.43) x 10~# from a measurement of [M(xco(1P) —

EFE) ioall ¥ [BH2S) — vxco(1P))] assuming B((25) — vxco(1P)) =
(9.22+£0.11 +0.46) x 102, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I(X(1385)+X(1385)) /T total F79/T
VALUE (units 10’5) EVTS DOCUMENT ID TECN COMMENT
16.2+5.8+0.3 27 L ABLIKIM 121 BES3 (2S) — yAAxtx—

1 ABLIKIM 121 reports (16.4 £ 5.7 - 1.6) X 102 from a measurement of [M(xco(1P) —
Z(l385)+f(1385)_)/rtota|] X [B(¥(2S) —  vxo(1P))] assuming B(¥(2S) —
¥Xc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(y(2S) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Qur first error is their experiment's error and our
second error is the systematic error from using our best value.

HTTP://PDG.LBL.GOV Page 22 Created: 6/5/2018 18:59



Citation: M. Tanabashi et al. (Particle Data Group), Phys. Rev. D 98, 030001 (2018)

(X(1385)~ X(1385)") /Ttotal go/T
VALUE (units 10*5) EVTS DOCUMENT ID TECN COMMENT
23.2+6.5+0.5 33 1 ABLIKIM 121 BES3 (2S) — yAAxt 7~

L ABLIKIM 121 reports (235 +6.2+2.3) x 10~ from a measurement of [M(xco(1P) —
2(1385)_f(1385)+)/rtota|] X [B(¥(25) — ~vxo(1P))] assuming B(¥(2S) —
¥Xc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(y(2S) —

YXc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I‘(K‘ A=t 4+ C.C.)/rtotal Mg/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.94+0.35+0.04 57 L ABLIKIM 151 BES3 ¢(25) — yK A=t + cec

LABLIKIM 151 reports [[(xco(1P) — K~ A=t 4+ cc)/Tiorall x [B(¥(2S) —
¥Xc0(1P))] = (1.904+0.30+0.16) x 10> which we divide by our best value B(¢(25) —

¥Xc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

M(Z929) /Meotal g2/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
3.14+0.8+0.1 23.34+4.9 1 NAIK 08 CLEO (2S) — ~=0=0

1 NAIK 08 reports (3.34 + 0.70 + 0.48) x 10~ from a measurement of [M(xco(1P) —
Z0=0) /Fiorall X [B(¥(2S) — vxco(1P))] assuming B($(2S) — vx0(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 + 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M=~ =%) /Neotal Fe3/T

VALUE (units 10_4) CL% EVTS DOCUMENT ID TECN COMMENT
4.8+0.7+0.1 95 + 11 1 NAIK 08 CLEO (25) — y=t=—

e o o We do not use the following data for averages, fits, limits, etc. o o @

<10.3 90 2 ABLIKIM 06D BES2 (2S) — x07

L NAIK 08 reports (5.14 £ 0.60 £+ 0.47) x 10~# from a measurement of [M(xco(1P) —
=7 EH) Miotall X [B(25) — vxco(1P))] assuming B(4(25) — vxco(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 Using B(4(25) — xc07) = (9:2 + 0.5)%

r(nc at W—)/rtotal Fga/T
VALUE CL% DOCUMENT ID TECN COMMENT

< 7x10~4 90 L2 ABLIKIM 138 BES3 ete™ — (25) — vxco
e o o We do not use the following data for averages, fits, limits, etc. o o @

<41 x 10~4 90 1,3 ABLIKIM 138 BES3 ete™ — ¢(25) — vxo

1 Using 1.06 x 108 4(2S) mesons and B(1(2S) — Xc07) = (9.68 £ 0.31)%.
2From the Ne — K% KT T decays.
3 From the Ne — KT K= 0 decays.
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F(PP)/Tiotal X T(77)/Teotal Is6/T x 32/T
VALUE (units 1077) DOCUMENT ID TECN COMMENT
18.8+1.0 OUR FIT
15.3+2.440.8 L ANDREOTTI 03 E835 Bp— xo9— 70n0
1 \We have multiplied B(pﬁ)B(ﬂO 7r0) measurement by 3 to obtain B(pp)-B(n ).
I-(P?) /Ttotal X r(ﬂoﬂ)/ Mtotal s/l x 33/l
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
<0.4 ANDREOTTI 05C E835 pp— n0n
F(pP)/Ttotal X T(x%7')/T Mse/T x 34/T
PP) /! total n total 56 34
VALUE (units 1077) DOCUMENT ID TECN COMMENT
<25 ANDREOTTI 05C E835 pp— n97p
F(PP)/Teotal X T(71)/Teotal I'se/T x I'36/T
VALUE (units 1077) DOCUMENT ID TECN COMMENT
6.7+0.5 OUR FIT
40+12103 ANDREOTTI 05¢ E835 Bp— 17
I-(Pﬁ) /Ttotal X I'(m/) /Ttotal s/l x 37/T
VALUE (units 1076) DOCUMENT ID TECN COMMENT
e o o We do not use the following data for averages, fits, limits, etc. o o @
21723 ANDREOTTI 05C E835 pBp — 707
—— RADIATIVE DECAYS ——
r('YJ/"p(ls))/rtotal lgs/T
VALUE (units 10_2) EVTS DOCUMENT ID TECN COMMENT

1.40+0.05 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. o o @

0.25+0.16+2.15 12k L ABLIKIM 17U BES3 eTe™ — ~X

2.0 £0.2 +0.2 2 ADAM 05A CLEO ete™ — (25) — vxco
1 Not independent from B( ¥(25) — ~vx0(1P)) and the product B( (25) —
’YXCO(LD)) X B( xcq(1P) — ~J/9(1S)) also measured in ABLIKIM 17U.

2 Uses B(¥(2S) — vxc0 — 7Y7vJ/¢) from ADAM 05A and B(1(2S) — vxqg) from
ATHAR 04.

I(7v6°) /Total lgs/l
VALUE (units 10_6) CL% EVTS DOCUMENT ID TECN COMMENT

<9 90 1.2+45 1 BENNETT  08A CLEO #(25) — ~~vp0

e o o We do not use the following data for averages, fits, limits, etc. o o @

<10 90 6+12 2 ABLIKIM 11E BES3 4(2S) — ~vvp0

1 BENNETT 08A reports < 9.6 x 10~ from a measurement of [M(xc0(1P) — 'yp )/
rtota|] x [B((2S) — ’YXCO(LD))] assuming B(¢(2S) — *yxco(lP)g (9.2+0. 4) X
102, which we rescale to our best value B((2S) — vxo(1P)) = 9.79 x 102

2ABLIKIM 11E reports < 10.5 x 10~© from a measurement of IM(xeo(1P) — 'ypo)/
rtota|] x [B(¥(2S) — ’YXco(lp))] assuming B(¢(2S) — ’YXCO(IP)) =(9.62+£0.31) x
102, which we rescale to our best value B((2S) — vxo(1P)) = 9.79 x 1072,
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r(’)’ w) /Ttotal lg7/T
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<8 90 0.0+238 1 BENNETT 08A CLEO (2S) — yyw

e o o We do not use the following data for averages, fits, limits, etc. ® o o

<13 90 5+ 11 2 ABLIKIM 11 BES3 ¢(2S) - ~vyw

1 BENNETT 08A reports < 8.8 x 1070 from a measurement of Mxco(1P) — ~yw)/
Miotall X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.2 £0.4) x
10~2, which we rescale to our best value B(¥(2S) — vxo(1P)) = 9.79 x 102,

2 ABLIKIM 11E reports < 12.9x 105 from a measurement of [M(xc0(1P) = Yw)/Tiotall
X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.624+0.31) x 102,
which we rescale to our best value B(¥(25) — vxo(1P)) = 9.79 x 102

(v8)/Teotal les/l
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<6 90 0.1+16 1 BENNETT  08A CLEO #(25) — ~vé

e o o We do not use the following data for averages, fits, limits, etc. e o @

<16 90 15 + 7 2 ABLIKIM 11 BES3 ¢(2S) — ~v~v¢

1 BENNETT 08A reports < 6.4 x 1070 from a measurement of M(xco(1P) — ~o)/
Miotall X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.2 £0.4) x
10~ 2, which we rescale to our best value B(¥(2S) — vxo(1P)) = 9.79 x 102,

2 ABLIKIM 11E reports < 16.2x 105 from a measurement of [M(xco(1P) = v9)/Tiotall
X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.624+0.31) x 102,
which we rescale to our best value B(¥(2S) — vxo(1P)) = 9.79 x 102,

F(v7)/Ttotal lgo/l

VALUE (units 10~%) CL% DOCUMENT ID TECN  COMMENT
2.0410.09 OUR FIT

o o o We do not use the following data for averages, fits, limits, etc. ® o o
<7 90 LwicHT 08 BELL BT — Kty

LWICHT 08 reports [ (x0(1P) = 77)/Totall X [B(BT = xcoK )] < 0.11x 1070
which we divide by our best value B(BT — Xc0 KT) =1.49 x 1074,

I'(e"' e J/ ¢(15)) /Ttotal Foo/T
VALUE (units 104 EVTS DOCUMENT ID TECN  COMMENT
1.54-+0.33+0.03 56 L ABLIKIM 171 BES3 ¢(25) — ~ete™ J/u

1 ABLIKIM 171 reports (1.5140.30+0.13) x 10—# from a measurement of [M(xco(1P) —
et e J/Y(15))/Tiorall ¥ [B(¥(25) = vxco(1P))] assuming B(4(25) — vx(1P))
= (9.99 £ 0.27) x 10~2, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I(et e J/¥(15)) /T (vJ/%(1S)) lo0/Tss
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
9.5+1.9+0.7 56 1 ABLIKIM 171 BES3 (2S) — ete ~J/y

LUses B(4(2S) — vxc0(1P)) X B( xc0(1P) — ~vJ/4(1S)) = (15.8+0.340.6)x 10~ 4
from ABLIKIM 17N and accounts for common systematic errors.
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F(v7)/T(v4/4(1S)) lgo/l8s5
VALUE (units 1072) DOCUMENT ID TECN COMMENT

1.45+0.08 OUR FIT

2.0 £0.4 OUR AVERAGE

22 +0.4 133 1 ANDREOTTI 04 E835 pp— X0 — 77

1.45+0.74 2 AMBROGIANI 008 E835 pp — Xe2 — Y1 v d/Y
1 The values of B(pp)B(v7) and B(y+)B(vJ/%) measured by ANDREOTTI 04 are not

independent. The latter is used in the fit because of smaller systematics.
2 Calculated by us using B(J/4(1S) — et e™) = 0.0593 + 0.0010.

I-(Pﬁ)/rtotal X r(7J/¢(15))/rtotal I-56/|- X I-85/r
VALUE (units 1077) EVTS DOCUMENT ID TECN COMMENT

31.14+1.5 OUR FIT

28.2+2.1 OUR AVERAGE

28.04+1.941.3 302 L23BAGNASCO 02 E835 Bp— xco— J/¥v

203727415 89 1,2 AMBROGIANI 998 PP — Xeo — I/

1vValues in (F(pP) x T(vJ/9(15))/Tioral) and (T(PP)/Tiotal X T(vI/9¥(15))/Tiotal)
are not independent. The latter is used in the fit since it is less correlated to the total
width.

2 Calculated by us using B(J/4(1S) — et e™) = 0.0593 + 0.0010.

3 Recalculated by ANDREOTTI 05A.

F(PP)/Teotal X F(77)/Teotal I'se/T x gg/T

VALUE (units 10~8) DOCUMENT ID TECN  COMMENT
4.5210.27 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. o o @

6.52+1.18 7035 1 ANDREOTTI 04 E835 pp— X0 — 77

1 The values of B(pp)B(v7) and B(vyv)B(yJ/v) measured by ANDREOTTI 04 are not
independent. The latter is used in the fit because of smaller systematics.

Xc0(1P) CROSS-PARTICLE BRANCHING RATIOS

r(XcO(]-P) - Pﬁ)/rtotal X r(¢(25)—> 'YXCO(]-P))/rtotal
Fs6/T x [525) /re(2S)
VALUE (units 106) EVTS DOCUMENT ID  TECN  COMMENT

21.74+0.9 OUR FIT
23.7+1.0 OUR AVERAGE

23.7+0.840.9 1222 ABLIKIM 13v BES3 (25) — ~pp
237414414 383+22  LNAIK 08 CLEO %(2S5) — ~vpPp
236731434 895713 BAI 04F BES  9(2S) — vxco(1P) — vBp

1 Calculated by us. NAIK 08 reports B(x.g — pP) = (25.7+ 1.5 £ 1.5 + 1.3) x 10—°
using B(¥(2S) — vx0) = (9-22 £ 0.11 & 0.46)%.
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[(xco(1P) = PP)/Ttotal X T(¥(25) = vxco(1P))/T (¥(25) —

J/H(1S)xt 77) Mse/T x FY2S) v (29)
VALUE (units 1075) DOCUMENT ID TECN COMMENT

6.25+0.26 OUR FIT

46 +1.9 1 Bal 981 BES  9(25) — vxc0 — PP

1 Calculated by us. The value for B(x.g — ppP) reported in BAI 98I is derived using

B(1(2S) — vxc0) = (9-3£0.8)% and B(1(2S) — J/¢(1S)ntn7) = (32.4+2.6)%
[BAI 98D].

I'(x,_.o(lP)—> /m)/rtotal X I'(¢(2S)—> ’YXco(IP))/rtotal
Feo/T x FY25) /rv(25)
VALUE (units 1076) EVTS DOCUMENT ID TECN COMMENT
32.0+2.3 OUR FIT
31.7+2.3 OUR AVERAGE

32.041.9+22 369 1 ABLIKIM 13H BES3 (25) — ~AA
31.2+3.342.0 131+12  2NAIK 08 CLEO (2S5) — vAA

I Calculated by us. ABLIKIM 13H reports B(x.g — AA) = (33.3 + 2.0 £ 2.6) x 10>

from a measurement of B(x.g — AA) x B(1(25) — ~xq) assuming B(1)(25) —
YXc0) = (962 + 0.31)%.

2 Calculated by us. NAIK 08 reports B(xcg — AA) =(338+£3.6+22+17)x 10—°
using B(1(2S) — vx0) = (9-22 £ 0.11 £ 0.46)%.

r(XcO(]-P)_’ Am/rtotal X r(¢(25)—> WXCQ(IP))/F(¢(2S)—>

_ ¥(2S) ;- ¥(2S
J/p(1S)nt ) leo/T % I-1?59 )/rn( )
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT

9.240.7 OUR FIT
13.0F38+25 152142 1pal 03t BES (25) — ~AA

L BAI 03E reports [ B(xcg — AA) B(¥(2S) — vxc0) / B((2S) — J/yntn)] x

[B2(A — =~ p) /BJ/Y — pp)] = (2.451_8'22 + 0.46)%. We calculate from this

measurement the presented value using B(A — 7~ p) = (63.9 & 0.5)% and B(J/¢ —
pP) = (2.17 £ 0.07) x 1073.

M (xco(1P) = vJ/¥(1S)) /Tiotal X T(¥(2S) = ¥xc0(1P))/Ttotal
Fgs/T x FY2S) rv(25)
VALUE (units 1072) EVTS DOCUMENT ID TECN COMMENT

0.138+4-0.005 OUR FIT
0.147+0.029 OUR AVERAGE Error includes scale factor of 4.6.

0.158+0.003+0.006 4.8k 1 ABLIKIM 17N BES3  (2S) — ~v~J/v
0.024+0.015+0.205 12k ABLIKIM 17U BES3 eTe™ — ~X
0.069+0.018 2 OREGLIA 82 CBAL %(25) — vxco
0.4 +0.3 3BRANDELIK 798 DASP %(25) — ~vxc0
0.16 £0.11 3 BARTEL 788 CNTR %(25) — X0
33 +1.7 4 BIDDICK 77 CNTR ete™ — ~X
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e o o We do not use the following data for averages, fits, limits, etc. ® o o

0.1514+0.003+0.010 4.3k 5 ABLIKIM 120 BES3  9(2S) — vXx0
0.1254+0.007 +0.013 560 6 MENDEZ 08 CLEO (2S) — vx0
0.18 +0.01 +0.02 172 7 ADAM 05A CLEO Repl. by MENDEZ 08

1 Uses B( J/Y — ete™) = (5971 + 0.032)% and B( J/¢p — puTp~) = (5.961 +
0.033)%.

2 Recalculated by us using B(J/4(1S) — ¢1¢7) = 0.1181 + 0.0020.

3 Recalculated by us using B(J/¥(1S) — wt @~ ) = 0.0588 + 0.0010.

4 Assumes isotropic gamma distribution.

5 Superseded by ABLIKIM 17N. |

6 Not independent from other measurements of MENDEZ 08.

7 Not independent from other values reported by ADAM 05A.

M(xco(1P) = 7J/$(1S)) [Teotal x T(¥(2S) = vxc0(1P))/T (¥(2S) —

J/1(1S)anything) Fas/T x FY25) /ry(29)
a1 8029 g 42925 185 2

P(25) ¥(25)
0.343r 2577 40.190T 1 ,7°7)

VALUE (units 102) EVTS DOCUMENT ID TECN  COMMENT
0.2241-0.009 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. ® o o

0.20140.01140.021 560 1 MENDEZ 08 CLEO 9(25) — 7vxc
0.31 £0.02 +0.03 172 ADAM 054 CLEO Repl. by MENDEZ 08

1 Not independent from other measurements of MENDEZ 08.

M(xco(1P) = 7J/$(1S)) [Teotal x T(¥(2S) = vxc0(1P))/T (¥(2S) —

J/p(1S)xt ) Fgs/T x FY25) /ré(29)
VALUE (units 1072) EVTS DOCUMENT ID TECN COMMENT

0.397+0.015 OUR FIT

0.358+0.020+0.037 560 MENDEZ 08 CLEO %(2S) — vxc0

e o o We do not use the following data for averages, fits, limits, etc. o o @

0.55 +0.04 +0.06 172 1 ADAM 05A CLEO Repl. by MENDEZ 08

I Not independent from other values reported by ADAM 05A.

I-(XCO(]-P)_’ 'Y'Y)/rtotal X r(¢(25)_’ 'YXCO(]-P))/rtotal
Fgo/T x FY2S) rv(25)
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT

2.001+0.08 OUR FIT
1.9510.09 OUR AVERAGE

1.934+0.084+0.05 3.5k ABLIKIM 17AE BES3  9(2S) — vxo0 — 37 I
2.1740.3240.10 0.2k ECKLUND  08A CLEO (25) — vxco — 37
3.7 £1.8 £1.0 LEE 85 CBAL %(25) — vXco
e o o We do not use the following data for averages, fits, limits, etc. o o @
2.1740.1740.12 0.8k L ABLIKIM 12A BES3  9(25) — vxc0 — 37

1 Superseded by ABLIKIM 17AE. |
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I-(XCO(]-P)_’ “W)/rtotal X I'('z/;(ZS)—) 'YXCO(]-P))/rtotal
Fa2/T x FY2S) rv(25)
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

8.3410.29 OUR FIT
8.80+0.34 OUR AVERAGE

9.11+0.08+0.65 17k 1 ABLIKIM 10A BES3 ete™ — 4(25) — vxco
8.81+0.114+0.43 89k  2ASNER 09 CLEO #(2S5) — yntn—
8.134+0.194+0.80 2.8k 3 ASNER 09 CLEO (25) — yn0#0

1 Calculated by us. ABLIKIM 10A reports B(x.g — n0n0) = (3.23 + 0.03 + 0.23 +

0.14) x 10~3 using B(4(2S) — vx0) = (9.4 £ 0.4)%. We have multiplied the 7970
measurement by 3 to obtain 7.
2 Calculated by us. ASNER 09 reports B(x.qg — 7T+7T_) = (6.37 £ 0.08 + 0.31 +

0.32) x 10~3 using B(4(25) — YXco) = (9:22 £ 0.11 4 0.46)%. We have multiplied
the 7T 7~ measurement by 3/2 to obtain w.

3 Calculated by us. ASNER 09 reports B(x g — 7070) = (2.94 & 0.07 + 0.32 + 0.15) x
103 using B(¥(25) — vxco) = (9.22 & 0.11 £ 0.46)%. We have multiplied the

7070 measurement by 3 to obtain 7.

M(xco(1P) = 77)/Teotal X T(¥(25) = vxc0(1P))/T (¥(2S) —
J/p(S)mtn~) 32/l x r‘féés’ / l"fl(zs)
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT

24.0+0.8 OUR FIT
20.7+1.7 OUR AVERAGE

23.94+274+41 97 £ 11 1 Bl 03c BES  4(25) — yxeg — ym0n0
20.2+1.1+15 720 £ 32 2 Al 98I BES  ¥(2S) — vx0 — yrt o~
0.0

1 We have multiplied 7~ m measurement by 3 to obtain 7.
2 Calculated by us. The value for B(x g — 7r+7r_) reported in BAI 98I is derived using

B(¢/ — vxco)= (93+0.8)% and B(¢ — J/¢rTx7) = (32.4 + 2.6)% [BAI 98D].

We have multiplied 7T 7~ measurement by 3/2 to obtain 7.

M(xco(1P) — nm)/Teotal X T(¥(25) = ¥xc0(1P))/Ttotal
F36/T x FY25) rv(29)
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

2.95+0.18 OUR FIT
3.12+0.19 OUR AVERAGE

3.234+0.09+0.23 2132 1 ABLIKIM 10A BES3 ete  — Y(25) — X0
2.934+0.12+0.29 0.9k 2 ASNER 09 CLEO %(2S) — ~vnn

e o o We do not use the following data for averages, fits, limits, etc. o o @
2.86+0.46+0.37 48 3 ADAMS 07 CLEO w(2S) — YXc0

1 Calculated by us. ABLIKIM 10A reports B(xco — nm) = (3.44£0.10+0.24 £ 0.13) x
1073 using B(/(2S) — vxcq) = (94 + 0.4)%.

2 Calculated by us. ASNER 09 reports B(xco — mn) =(3.184£0.13+£0.31£0.16) x 1073
using B(¥(2S) — vx0) = (9-22 £ 0.11 & 0.46)%.

3Superseded by ASNER 09. Calculated by us. The value of B(x.q(1P) — nn) reported
by ADAMS 07 was derived using B(1(2S) — vx0(1P)) = (9.22 & 0.11 %+ 0.46)%
(ATHAR 04).
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[(xco(1P) = 1m) /Tiotal X T (¥(25) = vxc0(1P)) /T (¥(25) —

J/H(1S)xt 77) F3g/T x FY2S) v (29)
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.85 +0.05 OURFIT

0.578+0.241+0.158 BAI 03c BES (2S) — ~nn

I'(xco(lP)—> K+ K-)/rtotal X I'(¢(2$)—> 'YXCO(]-P))/rtotal
Fa2/T x FY25) rv(29)

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
5.92+0.28 OUR FIT
5.97+0.07+0.32 8.1k 1 ASNER 09 CLEO (25) — yvKT K~

1 Calculated by us. ASNER 09 reports B(xco — KT K™) = (6.47 + 0.08 + 0.35 &
0.32) x 10—3 using B(1(2S) — vx0) = (9-22 £ 0.11 £ 0.46)%.

M(xco(1P) = K K~)/Ttotal x T(¥(25) = vxc0(1P))/T (¥(2S) —

J/(1S)n+7~) Fa2/T x FY2S) r(29)
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

1.71+0.08 OUR FIT

1.63+0.10+0.15 774 + 38 1 gal 98I BES ¢(25) — KT K™

1 Calculated by us. The value for B(x g — K+ K ™) reported by BAI 98I is derived using

B(1(2S) — vxco) = (9:3 + 0.8)% and B(¢(2S) — J/¢rtn—) = (32.4 + 2.6)%
[BAI 98D].

I-(Xco(lp) - K% K%)/l'total X r(¢(25) - 'YXCO(]-P))/rtotal
Faz/T x FY25) rv(29)
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

3.10+0.16 OUR FIT
3.1810.17 OUR AVERAGE

3.2240.0740.17 21k L1 ASNER 09 CLEO #(25) — VK%K%
3.0240.19+0.33 322 ABLIKIM 050 BES2 (25) — yKI K

1 Calculated by us. ASNER 09 reports B(x.g — K2K%) = (3.49 4 0.08 + 0.18 +
0.17) x 1073 using B(¥(2S) — vxg) = (9.22 + 0.11 + 0.46)%.

I (xco(1P) = KLK2)/Tiotal x T(¥(25) = vxco(1P))/T (%(2S) —

J/p(1S)n+7~) Fa3/T x FY25) r(29)
VALUE (units 10_4) DOCUMENT ID TECN COMMENT

8.9+0.5 OUR FIT

5.6+0.8+1.3 1Al 998 BES  (25) — yK%KY

1 Calculated by us. The value of B(x g — K% K%) reported by BAI 99B was derived using

B(1(2S) — vxco(1P)) = (9.3+0.8)% and B(¢(25) — J/yntn7) = (32.4+2.6)%
[BAI 98D].
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I-(XCO(]-P)_’ 2(7"+7r-))/rtotal X r(¢(25)_’ 'YXcO(lP))/r("/’(zs)_’

J/p(aS)xta™) r /T x 1{se> /i
VALUE (units 10_3) DOCUMENT ID TECN COMMENT

6.61+0.5 OUR FIT

6.9+2.4 OUR AVERAGE Error includes scale factor of 3.8.

4.4+0.1+0.9 1 BAl 998 BES  (25) — 7YX
9.3+0.9 2 TANENBAUM 78  MRK1 %(25) — 7Xc0

1 Calculated by us. The value for B(x g — 2rt 27~ ) reported in BAI 99B is derived using

B(¥(2S) — vx0) = (9-3+0.8)% and B(x(2S) — J/¥(1S) 7T 7)=(32.44+2.6)%
[BAI 98D].
2 The value B(¥(1S) — vxc0)*Blxeo — 27T 27 7) reported in TANENBAUM 78 is

derived using B(¥(2S) — J/¢(1S)nT 77 )xB(J/9(1S) — (T 07) =(4.6 + 0.7)%.
Calculated by us using B(J/4(1S) — ¢T¢7) = 0.1181 + 0.0020.

I'(xco(lP) — T x” Kt K_)/rtotal X I'(¢(2$) - 'YXCO(]-P))/rtotal
Fg/T x FY25) rv(29)

VALUE (units 10_3) DOCUMENT ID TECN COMMENT

1.78+0.14 OUR FIT

1.64+0.05+0.2 ABLIKIM 05Q BES2 %(25) — 7vxco

M(xco(1P) = nt 7~ Kt K™) [Teotal X T(¥(25)— ’Yxco(lp))/r(;ﬁ(zs)—s’
- 2 2

J/p(aS)xta™) Fe/T x s3> /112

VALUE (units 10_3) DOCUMENT ID TECN COMMENT

5.1 £0.4 OURFIT
5.8 £1.6 OUR AVERAGE Error includes scale factor of 2.3.
4.2240.2040.97 BAI 998 BES  %(25) — vXco
7.4 +1.0 1 TANENBAUM 78 MRK1 %(25) — vxcg
1 The reported value is derived using B(y(2S) — ntn—J/y) x BU/yp — £T47) =
(4.6 &+ 0.7)%. Calculated by us using B(J/1 — ¢1£7) = 0.1181 =+ 0.0020.

I-(XCO(]-P) — KtK- K+ K_)/rtotal X r(¢(25) - 'YXcO(lP))/rtotal
Mso/T x FY2S) rv(25)

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
2.76+0.28 OUR FIT
3.2040.11+0.41 278 1 ABLIKIM 06T BES2 (2S) — ~2KT2K™

1 Calculated by us. The value of B(x.g — 2K+2K_) reported by ABLIKIM 06T was
derived using B(14(25) — 7xco(1P)) = (9.2 % 0.4)%.

M(xco(1P) = Kt K= K* K™)[Tiotal X F(¥(2S) = vxco(1P))/

M(¥(2S) — J/¥(1S)x+ =) Fso/T x FY25) ré(29)
VALUE (units 1074) DOCUMENT ID TECN COMMENT

8.0+0.8 OUR FIT

6.1+0.8+0.9 1Al 998 BES  (2S5) — ~y2KtT2K™

1 Calculated by us. The value of B(x .9 — 2K+2K_) reported by BAI 99B was derived

using B(¥(2S) — vxo(1P)) = (9.3 £0.8)% and B(¢(2S) — JprT )= (324+
2.6)% [BAI 98D].
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I-(XCO(]-P)_’ ¢¢)/rtotal X r(1/;(2$)—> 'YXCO(]-P))/rtotal
Fss/T x FY2S) rv(29)

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

0.780.07 OUR FIT

0.78+:0.08 OUR AVERAGE

0.77+0.03+0.08 612 1 ABLIKIM 11K BES3 %(2S) — ~ hadrons
0.8640.19-40.12 26 2 ABLIKIM 06T BES2 (2S) — ~2KT2K™

1 Calculated by us. The value of B(x.g — ¢¢) reported by ABLIKIM 11K was derived
using B(¥(25) — vxo(1P)) = (9-62 £ 0.31)%.

2 Calculated by us. The value of B(x.g — ¢#¢) reported by ABLIKIM 06T was derived
using B(¥(2S) — vx0(1P)) = (9.2 £ 0.4)%.

M(xco(1P) = ¢9)/Ttotal X T (¥(25) — vxc0(1P))/T (¥(25) — < <
— 2 2
J/Y(1S)n* 7~) Fes/T x Mg /T42)
VALUE (units 10=4) DOCUMENT ID TECN
2.25+0.21 OUR FIT
2.6 +1.0 +1.1 1 BAl 998 BES  (2S) — ~y2Kt2K™
1 Calculated by us. The value of B(x.g — ¢¢) reported by BAI 998 was derived using

B(4(25) — vxco(1P)) = (9:3£0.8)% and B(4(2S) — J/ymt ™) = (32.4+2.6)%
[BAI 98D].

COMMENT

Xco(1P) REFERENCES

AALJ 17BB EPJ C77 609 R. Aaij et al. (LHCb Collab.)
ABLIKIM 17AE PR D96 092007 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 17Al PR D96 112006 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 171 PRL 118 221802 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 17N PR D95 072004 M. Ablikim et al. (BES 1l Collab.)
ABLIKIM 17U PR D96 032001 M. Ablikim et al. (BES Il Collab.)
PDG 16 CP C40 100001 C. Patrignani et al. (PDG Collab.)
ABLIKIM 151 PR D91 092006 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 15M PR D91 112008 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 15N PR D91 112018 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 13B PR D87 012002 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 13D PR D87 012007 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 13H PR D87 032007 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 13V PR D88 112001 M. Ablikim et al. (BES Il Collab.)
UEHARA 13 PTEP 2013 123C01 S. Uehara et al. (BELLE Collab.)
ABLIKIM 12A° PR D85 112008 M. Ablikim et al. (BES 1l Collab.)
ABLIKIM 121 PR D86 052004 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 12) PR D86 052011 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 120 PRL 109 172002 M. Ablikim et al. (BES Il Collab.)
LIU 12B  PRL 108 232001 Z.Q. Liu et al. (BELLE Collab.)
ABLIKIM 11A PR D83 012006 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 11IE PR D83 112005 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 11F PR D83 112009 M. Ablikim et al. (BES Il Collab.)
ABLIKIM 11K PRL 107 092001 M. Ablikim et al. (BES Il Collab.)
DEL-AMO-SA...11M PR D84 012004 P. del Amo Sanchez et al. (BABAR Collab.)
ABLIKIM 10A PR D81 052005 M. Ablikim et al. (BES Il Collab.)
ONYISI 10 PR D82 011103 P.U.E. Onyisi et al. (CLEO Collab.)
UEHARA 10A PR D82 114031 S. Uehara et al. (BELLE Collab.)
ASNER 09 PR D79 072007 D.M. Asner et al. (CLEO Collab.)
UEHARA 09 PR D79 052009 S. Uehara et al. (BELLE Collab.)
BENNETT 08A  PRL 101 151801 J.V. Bennett et al. (CLEO Collab.)
ECKLUND 08A PR D78 091501 K.M. Ecklund et al. (CLEO Collab.)
HE 08B PR D78 092004 Q. He et al. (CLEO Collab.)
MENDEZ 08 PR D78 011102 H. Mendez et al. (CLEO Collab.)
NAIK 08 PR D78 031101 P. Naik et al. (CLEO Collab.)
UEHARA 08 EPJ C53 1 S. Uehara et al. (BELLE Collab.)
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